Homework # 9  due September 4.

+ Read Pp- 1529

« Need D know: Da_ft’mh'om of onc-to-one amd

onfo_punctions  When 4uv Sets have the same

__catd_fﬁnah'gt_,. proof of Theorem 1.5.6

[ Do_the follownns problems:.

1. Prove +hat £ [, A= M!c( 4 ; U—’C are

are one ~to-one and ont _,F(,mchomcsZ +hewn

| h-= qo.[ A = C 1S also one-to-one amd ont.

2. Find 4 one-t-one amd on Lunchons

A’_tﬁﬂ)ﬂ-{i [6,b3 = [c,d] (Hl‘n'é.' Seek cﬁ[gur f«ncﬁ'on

in the fprm  f(x) = mx+F)

_b)_g_:_co. 1) » R,

Do mot mrqe‘é b Provc that  Your Lunchions

v

are  one — to-one  amd onh

| 8 is frnde , then AUB is countable.

12 Prove 4hat £ A s countable aud

Craduate _problem (extra credit for

PR |
UNdUrgraduaTtes J: 4,5 6 on 31,




